《15.3 分式方程》习题

1．已知是恒等式，则A＝＿＿＿，B＝＿＿＿.
＋＝
2．(1)   
=   (2)=
3. 已知的值
＝2，求
4.化简

（1）1－ 
+
(2)÷ •
(3) [a+(a-]÷(a-2)(a+1)
)• 
(4)已知b(b－1)－a(2b－a)=－b+6，求–ab的值                                                                                                  

(5)[(1+ –1)         
)–3]÷ ()(x－4+ 
(6)已知x+的值，求  =
（7）若ａ＋ｂ＝1，求证：             
＝－
5.若(+1的值
 ) －–1)a=1，求
6.已知 x2－5xy+6y2=0  求 的值

7．当a=的值
+1) ÷－ 时，求分式(
8．已知m2－5m+1=o 
求(1) m3+ 
(2)m－的值
9.当x=1998,y=1999时，求分式 的值            
10．已知的值 
,求==
11.已知：
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12.先化简,再求值:(
[image: image3.wmf])
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其中x=tan60°-3

13.已知：x=
[image: image4.wmf]1

3

-

,求x3-2x2+3x-5.

14.
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，其中m=
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15.已知x2-3x+1=0,求(1)x3-2x2-2x+8; (2)
[image: image8.wmf]2
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; (3)
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16.已知3a2+ab-2b2=0, 求
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的值.
17．先化简，再求值：
[image: image11.wmf])
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，其中x是方程x2-4x+1=0的根.
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